Theme 1 – Cross Elasticity of Demand

Cross Elasticity of Demand - XED
Starter Activity – YED values and the types of goods?


What do we call products that are consumed together? Give an example.


What do we call products that can be used to replace existing ones? Give an example.


What might happen to demand for tyres, if the price of lollipos increased?


Define cross elasticity of demand



What is the formula in order to calculate XED?


[image: ]Complete the tree below to show how to interpret an XED answer:
Explain what a NEGATIVE XED coefficient means.
Can you give an example?

Explain what a POSTIVE XED coefficient means.
Can you give an example?







Draw diagrams for the following XED results:
Strong Complements:                                                                                Weak Complements:Price
Good Y
Quantity
Good X
Price
Good Y
Quantity
Good X










Strong Substitutes:                                                                                 Weak Substitutes:

Price
Good Y
Quantity
Good X
Price
Good Y
Quantity
Good X








Draw a diagram to represent the relationship between two goods with a zero XED coefficientExplain what this result means:
Can you give an example?

Price
Good Y
Quantity
Good X








Calculation Questions XED:

1) If the price of Coca Cola increases from 50p to 60p per can, and the demand for Pepsi Cola increases from 1m to 2m per year, the XED between the two products is? (Show your calculations and answer below)



What does this answer mean?



2) If the price of Cinema Tickets increases from £5.00 to £7.50, and the demand for Popcorn decreases from 1000 tubs to 700, the XED between the two products will be? (Show your calculations and answer below)




What does this answer mean?

	Good/Service
	Substitute Goods
	Complementary Goods

	Bread
	
	

	Pizza 
	
	

	[bookmark: _GoBack]Laptop
	
	

	University Education 
	
	

	Xbox One
	
	

	Private Healthcare
	
	

	Car
	
	




Mr Wilson’s Thinking Further Challenge…
Explain how a firm could use XED to increase revenues. For instance, Xbox One and PS4 consoles are usually sold at loss – why is this and can you think of any other similar examples of XED usage?

	


Past Paper XED Exam Questions
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5 Estimates of income elasticity of demand for selected products in the UK

Income elasticity

Food item of derand

Fish 07
Milk and Eggs 09
Meat 12

(Source: https://www.gov.uk/govermment/publications/food-and-drink-elasticities)
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Other things being equal, the data in the table suggest that:

The demand for milk and eggs is price inelastic
Meat and fish have a positive cross elasticity of demand
Fish, milk and eggs are all inferior goods

Meat has a higher income elasticity of demand than fish

Answer

Explanation
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4 Which one of the following pairs of products is most likely to have a negative cross
price elasticity of demand between them?

Bus travel and private car use
Motor vehicles and petrol
Digital music downloads and music CDs

Tablet computers and laptop computers
Answer

Explanation
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The price of beef
Figure 1 The price of beef and chicken for fast food restaurants 2009 - 2010

o,

T T
MIJASONDJFMA
NIJASONDFMA

2009 2010

Extract 1 Rising price of beef

Itis not a happy time in American fast food restaurants. Rising beef prices have
reduced profit margins 2t the McDonalds, Burger King and Wendy chains. They have

found it difficult to pass on higher beef prices to their customers through the sale of

burgers such as the Big Mac'and 'Whopper Instead, the fast food restaurants have

responded by promoting sales of chicken burgers and fish fllets. s

Beef prices have risen due to higher costs for cattle feed and severe drought
conditions in Australia and New Zealand (the main suppliers of beef for American fast
food restaurants).

However, there is some good news. The fast food restaurants have benefited from
the recession as consumers made savings by switching from eating at expensive o
restaurants to cheaper burger bars.

ource: © The Times ncresse in meat prices has burger lovers asking: wheres the beef?, Alexandra Frean,
24th May 2010)




image6.png
(b) Using cross elasticity of demand, discuss the
of beefand the demand for chicken and fish.
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Is the XED positive or negative?
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Which of the following goods are likely to have a positive cross elasticity of demand
between them?

A Motor vehicles and rail travel

B Beefand leather

€ Motor vehicles and petrol

D Beef and animal feed

Answer

Explanation




